Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: NOx

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
o000 00535 0.0333 0.1000  ppby
Zonal mean abs diff: Ox
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
0000 16667 16667 50000 ppby
Zonal mean abs diff: PAN
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90

Latitude
e[ I ——

—0.1000 —0.0333 0.0333 0.1000  ppbv

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: NOx

200; é
400; é
600; é
800; é
1000 L ‘ . ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: Ox
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: PAN
200; é
400; é
600; é
800; é
1000 L ‘ . ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 sassn 10,0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: CO

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
—10.0000 —3.3333 3.3333 10.0000 ppbv
Zonal mean abs diff: ALK4
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
5000 01667 0.1667 0.5000  ppbC
Zonal mean abs diff: ISOP
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude

———lTTTT T T I ——

—0.5000 —0.1667 0.1667 0.5000  ppbC

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: CO

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: ALK4
200 é
400 é
600 é
800 é
1000 ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: ISOP
200; é
400; é
600; é
800; b é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: HNO3

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
o000 00535 0.0333 0.1000  ppby
Zonal mean abs diff: H202
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
o000 00335 0.0333 0.1000 ppby
/onal mean abs diff: ACET
200; é
400; é
600; é
800; é
1000 L ‘ . ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude

—0.5000 —0.1667 0.1667 0.5000  ppbC

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: HNO3

200; é
400; é
600; é
800; é
1000 L = ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: H202
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: ACET
200 é
400 é
600 é
800 é
1000 ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 sassn 10,0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: MEK Zonal mean % diff: MEK

200F - 200 -
r ] ° ]
400F — £ 400 B
r 1 v 1
600 |- - 2 600 -
[ ] @ ]
r ] a ]
800 - - 800 -
1000 L ‘ J ‘ ‘ ‘ _ 1000 . . . ;
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
B[ R S — — EEE T T ——
—0.1000 —0.0333 0.0333 0.1000  ppbC —10.0000 —3.3333 3.3333 10.0000 %
/onal mean abs diff: ALD2 Zonal mean % diff: ALD2
200F - 200 -
r ] 2 ]
400 | — £ 400 —
L ] o ]
[ ] £ ]
600 [~ — 2 600 —
[ ] @ ]
r ] a ]
800 - 7 800 7
1000 L ‘ ‘ ‘ ‘ ‘ _ 1000 . ! ‘ . ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
B[ R S — — EEE T T ——
—0.5000 —0.1667 0.1667 0.5000  ppbC —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: RCHO Zonal mean % diff: RCHO
200F - 200 -
. - /a -
[ ] o ]
400 - £ 400 b
L ] o ]
[ ] £ ]
600 [~ — 2 600 —
[ ] @ ]
r ] a ]
800 - - 800 -
1000 ‘ ‘ ‘ ‘ ‘ ] 1000 L ‘ ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude

———lTTTT T T I ——

—0.0500 —-0.0167 0.0167 0.0500 ppbv —10.0000 —3.3333 5.3333 10.0000 %




Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: MVK Zonal mean % diff: MVK
200F - 200F -
r ] ° r ]
400 — — £ 400+ |
r 1 o r 1
600 |- - 2 so0l -
[ ] @ [ ]
r ] a r ]
SOOj - SOOj -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . L . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—0.0500 —-0.0167 0.0167 0.0500 ppbv —10.0000 —3.3333 3.3333 10.0000 %
/onal mean abs diff: MACR Zonal mean % diff: MACR
200F - 200F -
r ] 2 r ]
400 — — £ 400+ |
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
SOOj 7 SOOj 7
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . L . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—0.0500 —-0.0167 0.0167 0.0500 ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: PMN Zonal mean % diff: PMN
200F - 200F -
. - /a . -
[ ] o [ ]
400 — £ 4001 —
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
800 | - 800 [ ' -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . L . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude

———lTTTT T T I ——

—0.0100 —0.0033 0.0033 0.0100  ppbv —10.0000 —3.3333 5.3333 10.0000 %




Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: PPN Zonal mean % diff: PPN

200 - 200 -
] ° ]
400 — £ 400 |
1 o 1
600 - 2 600 -
] @ ]
] a ]
800 - 800 -
1000 ‘ ‘ ‘ _ 1000 L . . ;
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
B[ R S — — EEE T T ——
—-0.0010 —0.0003 0.0003 0.0010  ppbv —10.0000 —3.3333 3.3333 10.0000 %
/onal mean abs diff: R4N2 Zonal mean % diff: R4N2
200F - 200 -
r ] 2 ]
400 — £ 400 B
L ] o ]
[ ] £ ]
600 [~ — 2 600 —
[ ] @ ]
r ] a ]
800 - 7 800 7
1000 L ‘ . ‘ ‘ ‘ _ 1000 L . . ;
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
B[ R S — — EEE T T ——
—-0.0100 —0.0033 0.0033 0.0100  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: PRPE Zonal mean % diff: PRPE
200F - 200F -
. - /a . -
[ ] o [ ]
400~ - £ 400 -
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
800 | ._ - 800 [ -
1000 L ‘ ‘ ‘ . ] 1000 L . . . ;
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude

— T R ——

—0.0100 —0.0033 0.0033 0.0100  ppbC —10.0000 —3.3333 5.3333 10.0000 %




Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean abs diff: C3H8

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

200

400

600

800

1000
-90

—0.5000

Latitude

—0.1667

Zonal mean abs diff: CH20

0.1667

0.5000

te]
o

ppbC

200

400

600

800

1000

Latitude

—0.1667

Zonal mean abs diff: C2H6

0.1667

0.5000

te]
o

ppbv

200

400

600

800

1000
-90

———lTTTT T T I ——

Latitude

—0.1667

0.1667

0.5000

te]
o

ppbC

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: C3H8

—90 —60 ~30 0 30 60 90
Latitude
TT0.0000  —5.3335 3a3sn 10,0000 %
Zonal mean % diff: CH20
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 3assn10.0000 %
Zonal mean % diff: C2H6
200 é
400 é
600 é
800 é
1000 . ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 sassn 10,0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: N205 Zonal mean % diff: N205
200F - 200F -
r ] ° r ]
400 — £ 4001 —
r 1 o r 1
600 |- - 2 so0l -
[ ] @ [ ]
r ] a r ]
SOOj - SOOj -
1000 L ‘ ‘ ‘ ‘ ‘ _ 1000 L ‘ “ . ‘ . ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—0.0050 —0.0017 0.0017 0.0050  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: HNO4 /onal mean % diff: HNO4
200F - 200F -
r ] 2 r ]
400 — — £ 400+ |
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
SOOj 7 SOOj 7
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . " . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—0.0050 —-0.0017 0.0017 0.0050  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: MP Zonal mean % diff: MP
200F - 200F -
. - /a . -
[ ] o [ ]
400 — £ 4001 —
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
SOOj - SOOj -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —

—0.0500 —-0.0167 0.0167 0.0500 ppbv —10.0000 —3.3333 5.3333 10.0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: DMS

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
00100 00035 0.0033 00100 ppby
Zonal mean abs diff: SO2
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
o000 00335 0.0333 0.1000 ppby
Zonal mean abs diff: SO4
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude

———lTTTT T T I ——

—0.1000 —0.0333 0.0333 0.1000  ppbv

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: DMS

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000  —5.3335 3a3sn 10,0000 %
Zonal mean % diff: SO2
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 3assn10.0000 %
Zonal mean % diff: SO4
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 sassn 10,0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: SO4s Zonal mean % diff: SO4s
200F - 200F -
r ] ° r ]
400 — — £ 400+ |
r 1 o r 1
600 |- - 2 so0l -
[ ] @ [ ]
r ] a r ]
SOOj - SOOj -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—-0.0100 —0.0033 0.0033 0.0100  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: MSA Zonal mean % diff: MSA
200F - 200F -
r ] 2 r ]
400 — — £ 400+ |
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
SOOj 7 SOOj 7
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—-0.1000 —0.0333 0.0333 0.1000  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: NH3 Zonal mean % diff: NH3
E ] E e = ]
200j - 200j L o 7
r ] ° r - < LI = = ]
400 — £ 400 B —
: ] . B u - ]
L ] 5 n [ ] ]
600 - - 2 600 m -
r ] & r = ]
800 | - 800 [ - -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —

—0.1000 —0.0333 0.0333 0.1000  ppbv —10.0000 —3.3333 5.3333 10.0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: NH4

200

400

600

800

1000

—0.1000

-60 -30 0 30 60
Latitude

—0.0333 0.0333 0.1000

Zonal mean abs diff: NIT

te]
o

ppbv

200

400

600

800

1000

—0.1000

-60 -30 0 30 60
Latitude

—0.0333 0.0333 0.1000

Zonal mean abs diff: NITs

te]
o

ppbv

200

400

600

800

1000

-60 -30 0 30 60
Latitude

———lTTTT T T I ——

—0.5000

—0.1667 0.1667 0.5000

te]
o

ppbv

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: NH4

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: NIT
200F - n
400 |- = .
600; |
800; »
1000 L ‘ ‘ ‘
-90 —60 ~30 0
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: NITs
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90

Latitude

— T R ——

—10.0000

—3.3333 5.3333 10.0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: BCPI Zonal mean % diff: BCPI
200F - 200F -
r ] ° r ]
400 — — £ 400+ |
r 1 o r 1
600 |- - 2 so0l -
[ ] @ [ ]
r ] a r ]
SOOj - SOOj -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—0.1000 —0.0333 0.0333 0.1000  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: OCP] Zonal mean % diff: OCPI
200F - 200F -
r ] 2 r ]
400 — — £ 400+ |
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
SOOj 7 SOOj 7
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—-0.1000 —0.0333 0.0333 0.1000  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: BCPO Zonal mean % diff: BCPO
200F - 200F -
. - /a . -
[ ] o [ ]
400 — £ 4001 —
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
SOOj - SOOj -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —

—1.0000 —-0.3333 0.3333 1.0000 ppbv —10.0000 —3.3333 5.3333 10.0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: OCPO

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
TT0000 03535 05353 0000 ppby
Zonal mean abs diff: DST1
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude
TT00000 T —5.3335 3530 10,0000 ppby
Zonal mean abs diff: DST2
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Lotitude

———lTTTT T T I ——

—10.0000 —3.3333 5.3333 10.0000 ppbv

Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: OCPO

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000  —5.3335 3a3sn 10,0000 %
Zonal mean % diff: DST1
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 3assn10.0000 %
Zonal mean % diff: DST2
200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
—90 —60 ~30 0 30 60 90
Latitude
TT0.0000 53335 sassn 10,0000 %



Pressure (hPa)

Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences
ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: DST3 Zonal mean % diff: DST3
200F - 200F -
r ] ° r ]
400 — £ 4001 —
r 1 o r 1
600 |- - 2 so0l -
[ ] @ [ ]
r ] a r ]
800 - - 800 - -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—0.5000 —-0.1667 0.1667 0.5000  ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: DST4 Zonal mean % diff: DST4
200F - 200F -
r ] 2 r ]
400 | — £ 4001 —
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
800 - 7 800 - 7
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —
—1.0000 —0.3333 0.3333 1.0000 ppbv —10.0000 —3.3333 3.3333 10.0000 %
Zonal mean abs diff: SALA Zonal mean 7% diff: SALA
200F - 200F -
. - /a . -
[ ] o [ ]
400~ - £ 400 -
L ] o L ]
[ ] £ [ ]
600 [~ — 2 600 —
[ ] @ [ ]
r ] a r ]
800 - - 800 - -
1000 L ‘ . ‘ ‘ ‘ ] 1000 L . . . . ‘ ]
—90 ~60 -30 0 30 60 90 —90 ~60 -30 0 30 60 90
Latitude Latitude
————— T s— — T e —

—1.0000 —-0.3333 0.3333 1.0000 ppbv —10.0000 —3.3333 5.3333 10.0000 %



Pressure (hPa)

Pressure (hPa)

GCEOS—Chem v9—01-02h Zonal differences

ctm.bpch.v9-01-02h — ctm.bpch.v9—-01-02g

Zonal mean abs diff: SALC

200

400

600

800

1000

200

400

600

800

1000

|
(o))
o
o
W
o
o
o
te]
o

Latitude

—0.3333 0.3333 1.0000

ppbv

/onal mean abs diff: OH

—-90

Latitude

Pressure (hPa)

Pressure (hPa)

Zonal mean % diff: SALC

200; é
400; é
600; é
800; é
1000 L ‘ ‘ ‘ ‘ ‘ ]
-90 -60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %
Zonal mean % diff: OH
200; é
400; é
600; é
soo; é
woooi ‘ 1 ‘ ‘ ‘ ]
-90 -60 ~30 0 30 60 90
Latitude
—10.0000 —3.3333 3.3333 10.0000 %

———E_——— T S —
—100000.0000-33333.3281 33333.3438 100000.00001e5 molec/cm3



